
������������� ����������������
��
�		�
���������

1



M2.5 (8mm) button head hex socket screw

M2.5 (20mm) aluminum standoff

M2 (6mm) button head hex 
socket screw

CNC head part installation

1

2

Antenna Installation Sequence

insert the O-ring into the antenna to 
secure it on the TPU antenna base.

2



Motor installing hole distance: 12*12mm

M2 (6mm) screws are recommended

30.5*30.5 flight controller mounting holes

20*20 flight controller mounting holes

25.5*25.5 AIO flight controller mounting holes

FC Mounting Hole | Motor Mounting Hole

3



*(Note: Assembly diagram, motor not included 
in the frame)

0 10 20 30 40 50 60 70 80 90 100 110 120 130 140

1�1 Scale

Recommended cable length for 25.5 AIO: 52mm
Recommended cable length for 20mm MINI: 62mm

ESC

4



Select the corresponding 
interface to connect to the FC

Micro USB

Tpye-C

Multi-function Antenna Mount

M3 (15mm) aluminum standoff 

Adjustable GPS Mount (12*16mm)

TYPE-C Module

Self-tapping Screw M2.5 (6mm)

SMA antenna installation position.

*(注：装配示意图，机架不包含天线）

(*Note: pictures for assembly reference only.
   Frame doesn’t include antenna)

5



Install the video transmitter into the 
aluminum bracket (pay attention to 
the orientation), and then secure it 
with the TPU video transmitter mount.

CNC cooling part installation

2

3

1 First, install the aluminum 
alloy at the bottom position.

Install the video transmitter 
antenna into the TPU antenna mount.

6

2

Note: BEE35 comes with a carbon fiber base plate, while BEE35 PRO comes with an 
aluminum alloy heat sink base plate.



Suggesting place for main power cable

It is recommended to keep the power cable of ESC to be about 100mm. 
Please refer to your own battery for actual length.

7



M2 (6mm) button head hex socket screw

O3 Air Unit or RunCam Link installation
O3 Air Unit或RunCam Link

M2 (3mm) button head hex socket screw

CNC cooling part installation

8

M3 (14mm) button head 
hex socket screw



M3 (14mm) button head 
hex socket screw

Bottom screw installation

9



Installation Illustration

M3 (9mm) flat hex socket screw
M3 (10mm) button head 
hex socket screw

M3 (14mm) button head 
hex socket screw

M3 (8mm) button head 
hex socket screw

M3 (7mm) flat hex socket screw

10



M2 (7mm) button head hex socket screw

T-antenna installation

M2(6mm)

11



M3 nut

M3 (20mm) button head hex socket screw

M3 (10mm) button head hex
socket screw

M3 (8mm) button head hex socket screw

Detachable anti-vibration camera base mount

Note: This accessory needs to be purchased separately

12


